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1 Y23/ X /54 = 26 §#4,735 X 7,005 =
2 /4TS X S5L¢E = 27 L6,587 X §,04 =
3 7,426 X SHL = 28 57,748 X /[, 3LE =
4 42,7/8 X /37 = 29 L4075 X 7,370 =
5 6,/ 785 X 754 = 30 37,546 X /TS =
6 7,6/3 X 768 = 31 86,032 X /7,486 =
7 3,L07 X 778 = 32 L4/085 X 57,786 =
8 6,/ L& X §/7 = 33 §6,3/4 X 76,85/ =
9 /048 X 70/ = 34 5,387 X 77,465 =
10 /680 X 6885 = 35 §6,/50 X §L,06/ =
11 /,036 X 4,645 = 36 L7,/ 37 X 785,840 =
12 7,803 X L,077 = 37 75,743 X 4Z,073 =
13 /064 X 2,4/ 4 = 38 76,734 X L/,6785 =
14 /5785 X 8,326 = 39 77,628 X 5&6,/78 =
15 /047 X 6,3/7 = 40 73,40/ X #4£7,0/¢6 =
16 5,86 X/, 436 = Ml 3/£,770 X 8§85,2/7 =
17 4,/085 X XL,7/4 = 2 /56,730 X 8§/,L74 =
18 6,04/ X 4,708 = 3| £65,L/7 X 40,825 =
19 6,504 X 7,074 = Ml 3L, /47 X 76,/3d =
20 /8573 X 4,85/ = 45 764,578 X 47,528 =
20 70,34 X &,757 = 46 74/,037 X #3,/65 =
2( 3/,750 X X, 74/ = 4711 76/,35L X 78,743 =
23| 0,476 X 4,06/ = 48| §65,47/ X 4,60/ =
24| 67,54/ X 8,7/ = 9 3L7,/56 X 73,742 =
25 £3,05/ X 5,086 = 5| 647,3/8 X 37,56/ =
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1 /3/REE3E + 4LE = 26 336,773,735 5,/ 47 =
2 /R4S, 36/ + /67 = 27 55,30/,567 L,083 =
3 Y/ 26,700 + &7 4 = 28 747,026,857 L §,7/6 =
4 S, 547,450 + 525 = 29 L70,/3/,0/3 4,203 =
5 L, LE &,/ Y~ L4LS = 30 LLE/ET /LI 7437 =
6 /0L, L/ 5 + L4 S 31 3,7/7,603,/78 §/,7385 =
7 /37 E 4O+ S/7 = 32 /068,072,540 47,756 =
8 3,778,335 + £E73 = 33 H,6854,555,33L $L,385/ =
9 3, 76,37/ = ‘73 = 34 7,/58,006,8536 57,/ 76 =
10 472,748 + §L7 = 35 /0,085,680 /7,30 =
11 LI, 447,500 +~ 4,5§L5 = 36 6,074,857 4,556 £3,7/68 =
12 /T HO0,7E0 + 5,407 = 37 L, 5/ 3,408,306 47,537 =
13 §, 644,086 ~ #,7/7 = 38 L, 30/, 554,/ L0 6/,748 =
14 £$7,736,37L + 7,/3L = 39 5/85,743,65/ SL,ET77 =
15 36,770,530 + &§,6/0 = 40 /38 LET 7,768 57, 4/d =
16 /0,548,685 + /4385 = Ml /7.L7,/ 65,8540 L0, 7785 =
17 53,800,/74 + 6,304 = 2 £§5,047,73/,57L 78,67/ =
18 L3,056,678 + 5,6/4 = 3 //,0853,8564,05L LE,7 /7 =
19 /L 6L4,8500 ~ 7,/785 = “l 37,075,736,07L 57,08/ =
20 L7, 23/,037 + 6,507 = 45 S8, 474,534,674 37,/87 =
200 3/ 4,555,373 « §,6/3 = 46| EL,L47,456,630 4,073 =
2 330,658,485 + 7,708 = 4711 /6,5368,347,3L0 /7,873 =
23| /75,562,078 + 2,786 = 48 5,/60,568,077 47,06/ =
24 4,707,443/ + &§,073 = 49 L3,4L/,565,376 53,/ 78 =
25 5/2,685/0,58/ + 7,54/ = 5 /4,336,765,080 5/, 745 =
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No 1 2 3 2 5 6 7 8 9 10

1 5,620 3,X720 4,253 /, 780 R/ §,/07 5,/86 /, 7852 5,325 2,593
2 5,468 VARNAVANS 5,573 7,525 2,593 5,069 2,560 2,773 §,205 7,232
3 b,/ 40 -, 473 Y, 529 —-5,392 6,508 /L HES 5,779 —-7,94& /7 RY 2,630
4 7,08/ §, 432 6,504 5,280 7,2/ 6 7,395 2,743 5,76/ 7,24/ 5,786
5 2,567 2,258 2,784 /7723 7,/ 26 — /4T R £,8527 /372 2,3/ X 2,776
6 2,38/ -/, LEY 7,76/ 5,28/ 5,674 6,237 5,270 -/ 475 £,39/ 2,/ 67
7 /, 386 VAR/AXA b,/ 74 5,267 5,623 —&,649 7,598 7,809 /378 -7,530
8 7,259 6,032 5,530 3,648 2,/ 7R §, 564 2,638 6,37 R Y,/ 23 - 2,480
=]

No| 11 12 13 12 15 16 17 B 19 20

1 6,04/ 6,7 Y% 2,044 £,328 5,72/ 2.7/ 8 3,948 2,509 7,36/ §,/ R0
2 2,468 3,/ 728 5,/ 7R 7,506 7,3/ L -3,6079 2,/ 86 -/, 254 £,/ 93 2,756
3 8,6/ 4 -/, 85465 2,/ 40 7,243 4,358 2.5/ 4 5,270 5,327 £,937 b, 4T R
4 3,679 —5,2X7 2,487 - 5,479 7,35/ 72,/ 56 5,253 7,352 2,736 7,/858
5 3,76 3,202 5,2/ 4 —-3,7% 5,853/ 6,850 2,73/ 6,/ 927 2,708 -3,027
6 72,0/ 6 /78R 7,3/ 6 4,7/ 2 5,527 6,473 3,/ 76 72,/ 58 3,7/ 5,297
7 2,54/ 5,97/ 72,657 /7Y b, 438 - 2,2/35 2,/ 04 5,782 §, 407 5,70/
8 2,/ 57 4,083 2,602 4,790 7,692 7,523 3,/ XY -/, 847 7,590 —-3,L2/
9 2,978 3,204 5,643 5,308 42,/ 53 46,253 2,/ X7 —4,5/0 2,8/ 7 3,/ 685
10 5,730 2,785 3,274 4,725 /9 RY 2,306 5,29/ 2,736 3,45 7,285/
11 3,5/68 2,/ 53 £,04/ 3,07 L 2.4/ 3 — 8,432 3,78/ Z,028 6,3/ 8 2,60/
12 5,037 2,253 §,LEY /, 560 5,424 7,602 4,029 2,07 2 5,/ 92 4,50/
=}

No| 21 22 23 24 25 26 27 78 29 30

1| 70.562| 99.654| 67.408| /6.640| $/.673| 70.962| 686.294| /6.549| #4%.093| 94.65/
2| s7.8¢2| sa.509| s7.695| va.854| vr.269 4r.983 o540 suvav| va2.05/| s5.3/9
3 SH, 2085 —59,46/ L4777 56,8570 S4,0856 —27,38/ XE, /S ET7 =7/, 046 52,0/ 2 —R5,708
4 4,526 75,049 ZLE5,630 =/ 8,426 2/,703 —=84,725 8$47,9/3 37,/ 68 720,578 —26&,/73
5 70,/ X6 2,453 2/, 84X 45,976 54,20/ THLERS 7,592 —=73,408 72,2/ Y% $/,539
6 R7,5/6| —58,346 /7,362 28,5/3 70,773 5,206 YE,29 7 78,/ 76 73,089 §L,730
7 §/,20R /2,507 52,853/ Y/ 39 75,309 5,/ 32 &/, 720 2/, 347 37,5/ 4 SL,E04
=]

No| 31 32 33 34 35 36 37 38 39 20

1| 63.24/| 28.40/| 64.692| #47.368| 63.208| 62.947| 60.259| 67.620| 20.979| 97.96/
2| s0.964| —s55.782| as.489| —2s.489| sr.255 4s.589| s9./53| 4s.230| 4s.290| s£9.627
3| 2s.84¢6| s0.9¢4| sv.249 su.0/7| a2s.049| e8| 98,574 50,554 95,5584 s0.85/
4| /2,038 ¢3.24/| 28,067 —28.067| s6.940| —/3.420| 58,206 29.37/| 2498 §£0.436
5| ss.782| s7.690| su.0/7| su.v05| s4.60/| 9s.280| 9v.528| —s9.846| 2/.95¢| 4,287
6 | s7.290| —87.290| «o0.5/9| v0.726| 4s.v82| s85.087| s0.649| sé.495| 20,974 -2/.974
7 /5,970 L3, 846 V6,358 =67, X492 76,539 73,685 47,625 § &5, 4460 RE, /56 —56,7 /9
8 /7,620 785,240 75,6/ 4,526 70,6885 —E5,07/ 60,29/ SEE48 §6,/ 57| —72,856
9 785,240 =/ 5,270 32,254 57,8562 VEH4ES 38,759 /4785l —23,587 7/ 403 3,590
10 §2, 754 §2, 754 §R, 436 70,362 43,/76 =64,/ 52 E92, 54/ SLH4L70 /2,736 REH4LES
=}

No| 41 42 43 44 25 46 47 8 49 50

1| 46,798 9%6.026| 74.692| 70.469| 46.237| 9/.248| 57./98| 99./28| 96.728| &/.420
2| 25.54/ 63982 36,09/ 56,457 55942 ¢s.vea|l so.vs2| so.9s2| sé.4v0| 6,429
3| so.s523| —sur63| vuzss| suzss| 9r.au3| 26.59/| &9.6/0| 4593/ rwsa9| sa2.49¢
4 REP /Y =/ R4S 0,876 /4RO 76,2785 38,7546 &P, 423 RE, &Y §7,2/ 9 792,736
5 S Y28 43,8570 28,65 —XR4,309 X7, 3/ 5 5,237 &E2,470 /0,257 26,438 20,/ 48
6 X72,685 S4,570 XE,03/ 5,85/ 2 RES4L/| =92/,70R S4,/07 26,04/ /O, R4S 77,095
7 27,5/&8 RE,58 4 SY,79/ 592,3/7 77,625 36,740 Y3,98 /| —RE5, 468 /8,570 X3,/ 65
8 35,2/7 58,7 /3 /0,587 —&64,37 5 S YELO| —364,792 2/, 045 57,29/ 25,607 —=&82,634
9 S4,73/ S YEET LELE/ 7 38,/ 56 £8,7R5 5,0/ 9 52,8536 —=78,043 23,0/ =/ 8,459
10 /5,324 53,602 727,369 XO,8/3 S,/ 546 —&62,85/ 2 S4,L7/ 5,27/ 0,498 Z2,ES7
11 3,855/ 3L,06 5 /2, E3E| =7 85,2/ 3 26,/ 78 27,328 5/,976 —86,543 72,34 £7,/59
12 S/,687 50,38/ 62,04 0,/ 29 RE,EST| 45,206 S7, 246l —45,/3L L2, 563 —&0,34/
13 58,493 36,590 792,576 47,620 70,592 R/ LT E S3L,67 4 0,389 REO04L/ | =7 8,643
14 73,702 —3&8,40% 58,642 =73,504 SE, 4850 —20,265 0,927 2,734 /2,063 —&64,05/
15 £E8,09 4 78,692 /0,376 25,386 73,275 #2359 38, /50 —=3/,024 SH4,7L9 7/,2703
=]
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651,574 596,668,375 2,637 41,327 44 972 96,122
775,850 213,350,136 7,369 26,549 25,964 334,317
3,223,692 79,199,328 6,123 85,937 55,128 63,733
655,802 177,914,250 7,360 64,271 15,122 369,498
5,878,600 68,928,678 9,408 32,957 50,100 233,362
5,846,784 1,504,355,552 4 907 45,397 27,434 519,915
3,126,825 1,397,752,530 5,420 21,465 53,381 223,394
5,006,576 6,629,950,968 5,481 75,132 13,853 573,702
944,248 2,469,461,085 9,507 82,091 47,666 328,358
1,150,800 7,069,555,150 7,832 47,016 10,774 572,065
4,791,500 2,601,001,760 4,860 95,042 62,505 243,679
16,222,437 3,194,308,379 3,540 50,738 27,405 743,281
9,803,696 2,098,600,740 1,758 37,165 69,546 171,527
10,782,170 5,486,498,344 9,806 15,683 19,640 459,333
6,628,631 4.578,143,416 4273 30,514 74,446 254,668
7,590,696 26,655,025,430 7,351 928,176 24,435 722,034
11,140,970 (12,757,467,420 8,537 861,752 67,920 248,060
29,631,105 [18,992,565,675 4107 413,708 31,380 670,606
61,707,744 |79,995,955,404 1,376 649,532 67,610 192,455
7,569,276 47,773,619,184 4,293 981,326 30,320 745,201
615,179,606 [40,619,862,105 36,521 978,310 457,199 135,251
87,574,950 [73,007,954,936 41,829 932,840 142,165 871,340
326,000,836 [21,291,944,091 65,493 109,657 445,265 212,828
575,173,611 |[24,338,452,952 10,467 436,512 195,547 908,022
218,957,386 |[24,389,033,398 53,861 175,384 388,954 221,262




